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If we have agraph of distance (s) against time (t), the gradient givesthe
velo Gy .

S0: d-S
de

=

<=V

If we he\‘e agraph of velocity (v) against time (t), the gradient givesthe
{ J ON v

occeMe ol
dv
Y
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Example: A car travels between two traffic I@DE Th%di stance (s) it hastravelled
at timet secondsis given by the formulas= B

(@) Find the formulafor the velocity.

(b) Find the velocity after 5 seconds

(c) Find the formulafor the acceleration.

(d) Find the acceleration after 5 seconds.

QO‘B Vv = é§ = 2LO ——'2‘7

9 9.4
(o) Vv = 20 - XAxS=10
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(e) -1 & Conshedk.



